Oral comprehension – Optic Fibre : https://www.youtube.com/watch?v=u1DRrAhQJtM
1. What is this documentary about ?
2. What you say or type travels through fiber optics when you use : your computer – your cell phone – your home phone
3. What transmits your voice and data are … 
a) a sound wave 
b) a slight shock wave 
c) pulses of light
4. The glass fibers are thicker than a human hair :  Right – Wrong
5. Those f………... g……………... start out as large g……………  t……………….
6. The next step consists of emerging / submerging them in a corrosive / conclusive bath of hydrofluoric acid.
7. Why is this step necessary ? To add essential hydrocarbon oil – to get rid of oil residues
8. The two tubes are inserted into a lathe and as they turn, they are heated and reach a temperature of 35 – 350 – 3500 degrees
9. The two tubes fuse together so they form a …………...er tube. 
10. As this new tube spins, chemical gasses are injected inside :  Right – Wrong
11. At this stage, heating the tube is still necessary : Right – Wrong
12. Name at least one of the liquid elements injected in the tube :
13. What is Germanium similar to ? 
14. This element is used as a semi-conductor in t…………………………. and other electronic d……………….
15. What does the chemical reaction leave inside the tube ? 
a) a white sauce 
b) a white soot 

c) a white suit 
16. It will become the … of the optic fibre. 
a) the corn 

b) the corpse


c) the core
17. Then the heat is turned up – down so that it may turn into glass.
18. The glass tube is heated once again to make it …
a) bendable 

b) brittle 


c) unbreakable
19. Intense heat makes it form a solid ...
a) rope 


b) rock 

c) rode
20. It is installed horizontally / vertically into a drying / drawing tower for it to get its final shape.
21. The ‘preform’ is then heated at a temperature of 36 – 360 – 3600 degrees.
22. What pulls the soft glass down?
a) gravity 

b) electricity 


c) acidity
23. It is stretches until it forms a thick / thin glass fibre.
24. It is necessary to measure the tension on the fibre. Right – Wrong
25. What device is used to make sure that it is the precise diameter?
26. This diameter is five one … of an inch. 
a) tenth 

b) hundredth 


c) thousandth
27. Then the fibre passes through 
a) UV lamps 

b) ruby lamp 


c) ruby ramp
28. This is necessary to bake on an a…………………. c……………………..
29. Why is this necessary?
30. Optic fibres are expensive to produce but they are s………………, l……………………. and more efficient  than traditional c………………. cables
